


















































































































































































































for i in range(0, len(a)-1): 
    k = i # kandidat za indeks najmanšega v a[i:] 
    for j in range(i+1, len(a)): 
        if a[j] < a[k]: 
            k = j 
    a[i], a[k] = a[k], a[i] 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
def uredi(a): 
    """Uredi tabelo a z zlivanjem.""" 
    if len(a) <= 1: 
        return a  
    else:  
        i = len(a) // 2 # sredina (približno) 
        return zlij(uredi(a[:i]), uredi(a[i:])) 
 




